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(4. #itk)
X5 20194785 20194885 =
EZ:";;’ ((jtt:;’ig) 1kWha A 0.97 A 0.77 +0.20
EZ:";? g (;ijtt)) 1kWhasf=h A 0.02 A 0.14 A0.12
N ./
TAEMTZY (ER)
TAELTTY (ER)
TAEMTIOA (ER) 1kWh#&izh A 1.08 A 1.27 A 0.19
TAEMTS> (BERD)
ThELTSY (BED)
TAEMTZ> (HEB)
EZ;?;/ :ﬁ[‘;m 1kWha1b A 2.14 A 2.44 A 0.30
ThELTS> (FhEED)
TAEMTS> (dbBE)
EZ:;@;’ ((jjtgéi)m 1kWhafzh +0.53 +0.58 +0.05
“ % 23
TAELTF> (dEBED)
_ BAIDISKWhET (SEAIEES) +9.00 + 6.53 A 247
CAEMTS> (BIFE) % EZ3 1kWhsih + 0.60 + 0.44 A 0.16
_ BAIDISKWhET (SEAEES) + 6.02 + 5.60 A 0.33
CAEMISY (HE) % EZ3 1kWhsih + 0.40 +0.38 A 0.02
_ S0 IKWhET (RERSES) +1.37 +1.96 + 0.59
CAEMISZ (HHE) FEEz#BZx% 1kWh&Hizh + 0.12 + 0.18 + 0.06
CAEMISZ () 1kWhasizh A 0.26 A 0.33 A 0.07
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